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944 S LY 610126k pkkkkkxk24 DU ELA B 20226110042000944
945 TE S 37068 Lksksoktkork24 DU fkis B 20226110042000945
946 fift i 7 5 610103%kkkkkk%%1 5 U = -9 20226110041000946
947 BB 'y 61062 7kkstolkotskolotok8 X DU = B 20226110042000947
948 PV IR 'y 610122 kkotlkokstokook 40 DU = B 20226110042000948
949 X S 61032 | kkskskkrk k%26 DU EH B 20226110042000949
950 2 gy 61250 Leksoksolotokotkd 5 DU fkis B 20226110042000950
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961 1 % R — DU e L 20226110042000961
962 gk L 'y 610302:%kkstlkokstokook2() DU = B 20226110042000962
963 FERN RN 8 37028 4%kkk k84523 DU i B 20226110042000963
964 R 'y A1 1425% %k k55554546 DU EH B 20226110042000964
965 W s s 14021 1 sskotsotstototokok 2 DU fkis 2D 20226110042000965
966 AR 'y 14082 skttt k 88 DU fEkis B 20226110042000966
967 TEikE i 61250 Lsksokstokotokokk23 DU i B 20226110042000967
968 PN S 61011 1 #kskkiorsk | DU i B 20226110042000968
969 X 8 152628%kxkkkk 55424 DU EH B 20226110042000969
970 W FF 4 61030 3%ksksiokotsiotonk | DU [ B 20226110042000970
971 B gy 610582k k454425 U s D' 20226110042000971
972 = 'y 371422 kkstolotskotonokd 3 DU = B 20226110042000972
973 i A A gy 141130%%skkk5 55500 DU i B 20226110042000973
974 Mt tii 8 142623% %k k55 55%25 DU EH B 20226110042000974
975 HERI 'y 61010 3%kkokkotsikokk2() DU [ B 20226110042000975
976 W i 6127 28 kskkstotsketotok 28 DU fEkis B 20226110042000976
977 57 K 7 610426k k884K 2 DU = i 20226110042000977
978 2 ik e 8 61012 |kt k08 DU i B 20226110042000978
979 i % 412728%xkk5% 554599 DU EH B 20226110041000979
980 {5 1 gy 6101 1 Skcksotsiolotokotk25 DU fkis 2D 20226110042000980
981 Wy gy 61240 Ioksoksiolotokotokd 3 DU fEkis B 20226110042000981
982 T 5 6101 24k%kkkkk4%k 8 DU = i 20226110041000982
983 JE B 'y 61042 5%kkstolotskolotok 22 DU = B 20226110042000983
984 oK % S 6127325k k%58 4%2X DU EH B 20226110042000984
985 X 5's 36252 3kskkskkskokskk kA3 P e D' 20226110042000985
986 i £ 61010 2skkstokototokotoek3 | LU e L 20226110041000986
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989 el 7 14270255k %5%%20 U A VB 20226110042000989
990 A 4 410185kksoksksokok k28 DU L H 20226110042000990
991 FEH & 53352 1 skskskskskskskskskk 20 DU = B 20226110042000991
992 PEAT A 5°q 610125%kskskskokokoksk 23 R = TEC 20226110042000992
993 XE = 5’4 612724 kkkkekekkokokok 20 DU = I2D'8 20226110042000993
994 =50 u 210802skkkkskskokekk 2X DU = TEC 20226110042000994
995 FRFIR 5°q 1306825k kkkkkk 2. DUt L H 20226110042000995
996 HET 54 610103k 26 DU = B 20226110042000996
997 X 'E Tt & 411502sskskskskskskskskok 2T =]k = D 20226110042000997
998 PLHE 5’4 6201 02kskokokoksk 2X DU = I2D'8 20226110042000998
999 YN 5’4 61270 Lsssolololk 22 DU = TEC 20226110042000999
1000 55 el el ” 62280 ksl k25 DU L H 20226110042001000
1001 BRI 54 610323tk %23 DU = B 20226110042001001
1002 X & 50022 1 sksksksksksksksksksk 4 7 DU = D 20226110042001002
1003 IR 7 610929 sk | U = B 20226110042001003
1004 KA U 612525k iekolkolkekelek | 7 DU = D 20226110041001004
1005 RS x© 612429 kskskskskoksksksk 62 PR L H 20226110042001005
1006 [N AN 5’4 T —— U = B 20226110042001006
1007 EREIE & 612723 sk 4X DU = D 20226110042001007
1008 +% 7 610322k k%4520 U = B 20226110042001008
1009 s 7 6101 22kkskkkkx%24 U A VB 20226110042001009
1010 K 5’4 210404k 29 W L H 20226110042001010
1011 Fh 3R u 61032 3kkkkkkkkokk 29 DU = B 20226110042001011
1012 G % 421 125%skskskskskskskskok 4 X B = =D 20226110042001012
1013 23 5’4 6127 24%kkekekololokokok 2 X DU = I72D'8 20226110042001013
1014 IS 7 33078 Lkttt | P Sl e 20226110042001014
1015 XI5 i 6101 04sksksksksksksksksksk 2.2 DU L 1720’8 20226110042001015
1016 K «© 61012 1 sksksksksksksksksksk83 BUB i B 20226110042001016
1017 T 5’y 610524 %kskskskskokokoksk 23 DU = D 20226110042001017
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1019 K i ik u 372330tk 27 DU = TEC 20226110042001019
1020 Gl i 610102%kkskskskskskk 38 PR L H 20226110041001020
1021 LT 54 61252 Tskskkspolokskk 27 DU = D 20226110042001021
1022 TR AR © R —— PR = D 20226110042001022
1023 [EREh EE 6101 24%kskskkskoksksk k56 DU = I2D'8 20226110041001023
1024 K ge e 5’4 411282k k65 DU = D 20226110042001024
1025 PR S 61252 4skkksksiokodokk 48 P L B 20226110042001025
1026 X205 u 411202%%k5kk0kkk23 DU = B 20226110042001026
1027 K K 7 & 61012 Lskskskskskskskskskok05 PR = D 20226110042001027
1028 RN 5’4 612729 kkkekekolololkokok 22 DU = I2D'8 20226110042001028
1029 RilGE u 150426 kkektokikok62 DU = TEC 20226110042001029
1030 SR KIK 5’8 610303kl 27 DU L H 20226110042001030
1031 | Zhsais i 6101 24skkksksiokokdeokk 22 U = B 20226110042001031
1032 Tk I % 61012 [sksksksksksksksksksk8 X P = =D 20226110042001032
1033 KAt 5’4 1427235554540 DU = I2D'8 20226110042001033
1034 MRz 5% 5’4 51152 Tkekekelololokokok 22 DU = D 20226110042001034
1035 X 5’8 14262 Lsokoksossork 27 DU L H 20226110042001035
1036 K i i 61012 2skskksksiokdeokk 23 U = B 20226110042001036
1037 MEE Bt 5°q 610526%skskkkskskkk 24 R = TEC 20226110042001037
1038 ZEHE A 5’4 610526%kkkkekokokokok | DU = I2D'8 20226110042001038
1039 +H u 6101 26%kkkskokkk %25 DU = TEC 20226110042001039
1040 St 5°q 610602:%ksksksiskoksksksk Q4 P L H 20226110042001040
1041 kT 54 61042 3kskkkskkk4% 25 DU = B 20226110042001041
1042 7D % 610526sksksksksksksksksksk8 X B = =D 20226110042001042
1043 +AE 7 610324k k%5526 PR = B 20226110042001043
1044 A 5’4 6101 22%kkkekekokokokok 27 DU = X 20226110042001044
1045 XK i 5321 26kskskskskskskskokok 20) PUB L 1720’8 20226110042001045
1046 IR «© 411082%+kkskkokkk 25 DU = B 20226110042001046
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1049 &3 u 4115023 kkkks0kkk 22 DU = TEC 20226110042001049
1050 Tins © 61012 Isksksokokaknk | DU L 1720’8 20226110042001050
1051 e iH 7 63229 1 kxkskkkkkx2() [ ji% i W 20226110042001051
1052 K 5’4 1426025kt 25 PR = D 20226110042001052
1053 e 5 430422 %kkkskskskokokok T8 DU = I2D'8 20226110041001053
1054 PhHESE 7 6101245k k%27 U A VB 20226110042001054
1055 Ly 5°q 37048 | kkkrkkkkk kX DUt L H 20226110042001055
1056 MES «© 6101 25%skolkokkk k66 DU = B 20226110042001056
1057 Ev 5°q 411221 sekesksisiekokok 4.0 R = TEC 20226110042001057
1058 — X 5’4 6101 25%kkekekelkolololok 28 DU = I2D'8 20226110042001058
1059 LDy Es 7 61010253k | P A VB 20226110042001059
1060 BT1% 5’8 3213020k 4% 26 DU L H 20226110042001060
1061 55 8 5’4 R ——Y U = B 20226110042001061
1062 J&5 ER AT & 61012 Lskskskskskskskskskok G0 DU = D 20226110042001062
1063 THE 5’4 61022 Lkskssolololkk 24 DU = I2D'8 20226110042001063
1064 52 7 13050 3skskssoksoksok k46 P Sl e 20226110042001064
1065 T i S R — P L B 20226110042001065
1066 R 5’4 34999 | skeksksikskskskskok 46 U = B 20226110042001066
1067 XIEE AL % 61232 2skskskkokkskkk 20 PR = D 20226110042001067
1068 FE 7 610524k k%5526 U = B 20226110042001068
1069 2 u 61048 Leksteksciolokkk 29 DU = TEC 20226110042001069
1070 Tk Bk °© 61052 Tsskskskkoksiok DU L 1720’8 20226110042001070
1071 8 5’4 61012 2skskdeksicokskolok 26 U = B 20226110042001071
1072 THEE & 142603 skskskskskstekettsk X B = =D 20226110042001072
1073 R 5’4 612326%kkekekekolokolok 23 DU = I72D'8 20226110042001073
1074 T/ 7 500235k 22 U A VB 20226110042001074
1075 Sk x© 6101 1 [kt 26 PR L H 20226110042001075
1076 et 5’4 610582 %ksksksiskoksksksk Q3 U = B 20226110042001076
1077 EES 5°q 37020 3sksksktkokkskskk 20 R = TEC 20226110042001077
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|hies 44 P ) UEAE 5 A R H 1 AR A2k R EL HUH AL 555
1079 i u 61062 3kkkksokokkkx28 DU = TEC 20226110042001079
1080 ZF i 5 610526ksksksksksksksksksk 5 X DU L 1720’8 20226110041001080
1081 NN i 4 T —— U = D 20226110042001081
1082 N AN 5 610523 kkskskkokoksksksk | 6 P = D 20226110041001082
1083 N Ean 5’4 6101 24kkkekekolkolkololok 28 DU = I2D'8 20226110042001083
1084 +x 7 4108223 kkk30k4% 28 P Sl e 20226110042001084
1085 Fitg L 37112 1 kskkstokokokskk k20 DUB L 1720’8 20226110042001085
1086 v i 37078 sskskskskskskkkk 4 DU = B 20226110042001086
1087 I 5°q 61252 5%ksskskokoksksk k26 DU = D 20226110042001087
1088 PR 7 130983 %kkkkx%08 PR = B 20226110042001088
1089 {LE u 61032 3kekskkeksokokok k84 =]k = TEC 20226110042001089
1090 1R % 610602skkkskkskskkAk2X PUB L 1720’8 20226110042001090
1091 + 5 i 340702:%kskskskskoksksksk QX U = B 20226110042001091
1092 T 5 41122455kkkkk5kk 3 X DU = D 20226110041001092
1093 H 3% 7 612429%kskkxkk 4% 25 U = B 20226110042001093
1094 Mds u 14041 Lieokoktoiorok 46 DU = TEC 20226110042001094
1095 15 L F5 ” 14042455k 23 DU L H 20226110042001095
1096 ZAE i R —Ts U = B 20226110042001096
1097 RN 5°q 61252 3sksksctkokkskkok 2 ) R = TEC 20226110042001097
1098 AT 5’4 612328 kkekekekololokokok 22 DU = I2D'8 20226110042001098
1099 55 7 65012 Lskskkkkkkx26 [ jiG A VB 20226110042001099
1100 AN E] 5°q 150124kttt 2.4 PR L H 20226110042001100
1101 [EEN E: 36048 | ekskstesisiokksksk ] 3 U = B 20226110041001101
1102 By iyl & 61273 Lsskskskskskskskkk D | B = =D 20226110042001102
1103 ] & & 5’4 61250 ekekekelololololok 25 DU = I72D'8 20226110042001103
1104 X134 7 61012 Lok | U A VB 20226110042001104
1105 T 5’8 6101 24355skskskskokokkk 29 PUB L 1720’8 20226110042001105
1106 X %6 5 u 610323 kkkokokkk k67 DU = B 20226110042001106
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1110 b % 6103 24sksksksksksksksksksk 28 DU L 1720’8 20226110042001110
1111 XIJ A, 7 37992 Dskskskkkkkokk k0T P i W 20226110042001111
1112 2[5 5 & 370322%5kkskskskskokk 29 B = =D 20226110042001112
1113 517G 7 6101 22kkskkkkx%44 U = B 20226110042001113
1114 Frit 5’4 61012 Dkkkekekkokkokok86 DU = D 20226110042001114
1115 T-NE ik 5’8 610103tk k25 DU L H 20226110042001115
1116 B u 6127 25%kkkk0kk344 20 DU = B 20226110042001116
1117 i 5’y 61043 [ ksksksskskokokoksk 48 DU = D 20226110042001117
1118 TK A 5’4 61063 0kkkekekelololokok 2 X DU = I2D'8 20226110042001118
1119 AR M 5’4 610104kkekekolololokok 2 X DU = X 20226110042001119
1120 fEHUE 5’4 230502k 29 DU L H 20226110042001120
1121 BRIk i L ——| U = B 20226110042001121
1122 Pk % 610528 %sksksksitkokskd | PR = D 20226110042001122
1123 TR 7z 610123 kskp0kk4%24 P LA W 20226110042001123
1124 Tk 7 51370 Lskskksolokx26 P Sl e 20226110042001124
1125 ST 5’8 14220 Lsokoksossrokk 67 DU L H 20226110042001125
1126 Tk & i u 21088 kskksksotokskkx88 DU = B 20226110042001126
1127 BRI 5’8 I — PR = D 20226110042001127
1128 HER 7 632826k kkkkkxk24 U = B 20226110042001128
1129 T E 7 622623 %kkkkok k%46 P Sl e 20226110042001129
1130 B3N 5’4 610303k 28 DU L H 20226110042001130
1131 MIET 5t 4 14220 1 skttt 2 | U = B 20226110042001131
1132 v 5’y 14242 3skskskstokkkkk 28 DU = D 20226110042001132
1133 b i I 7 612728 kb2 | PR = B 20226110042001133
1134 THEE u 61240 Lsksteksoolekk2 1 DU = TEC 20226110042001134
1135 ¥ T HH S 6101 1 3skkeksksiooletekk 22 P L B 20226110042001135
1136 il i T — U = B 20226110042001136
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1139 R 5’4 610525%kkekekekolokokok 22 DU = D 20226110042001139
1140 FAita 4 61240 Lsksokspokokskok 26 DU L H 20226110042001140
1141 B 01 i 61020 2skskteksicokskolkok 26 U = D 20226110042001141
1142 & HH & 61020 25kskskskskskskokk 6 | B = =D 20226110042001142
1143 EIgERES 5’4 612724 kkkkekekkokokok 29 DU = I2D'8 20226110042001143
1144 K 25 u 62232 kkkksksotolekkq X DU = TEC 20226110042001144
1145 fi % 5’4 610203k 26 DU L H 20226110042001145
1146 XU u 610629kskkskskokk%28 DU = B 20226110042001146
1147 XA EE & 612426 %kkskskskokokoksk 23 DU = D 20226110042001147
1148 JEl z L 5’4 1301024 3 DU = I2D'8 20226110042001148
1149 JeE A B 7 612722k %% %%69 P A VB 20226110042001149
1150 oA 5’4 612325k k04429 DU L H 20226110042001150
1151 Tk AR u 610628kt 4 7 DU = B 20226110042001151
1152 Tk i = 5’y 4114025%kkkkk5k5kk% 26 DU = D 20226110042001152
1153 JE AR 5’4 610602skkkekekelolokokok4 X DU = I2D'8 20226110042001153
1154 Z= u 630 1 02skkksolokk 20 DU = TEC 20226110042001154
1155 TR L 610124 %sksksickokokon 1 6 P L B 20226110041001155
1156 FH & u 61230 [¥kiioiokololk 28 DU = B 20226110042001156
1157 XU RN IR L 610104 s5kskkstokskksok 25 BT = =D 20226110042001157
1158 7K A 5’4 6101 1 2kkekelelololololok 28 DU = I2D'8 20226110042001158
1159 ik & u 6101 22skkkkkskokok k84 DU = TEC 20226110042001159
1160 £ 5°q I —y P L B 20226110042001160
1161 HIRZE 4 R — U = B 20226110042001161
1162 KEE 5°q 410883 kkksksksiokokok Q7 R = TEC 20226110042001162
1163 ZEIR 5’4 510704kkkekkekkkokok 29 DU = I72D'8 20226110042001163
1164 B At Pa 610103k 8 U A VB 20226110041001164
1165 FBALE 5’4 610525k k4528 DU L H 20226110042001165
1166 L 1 34060 3*k:kseiokokokk 23 DU = B 20226110042001166
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1169 JetE 7 231025k k%5540 U A VB 20226110042001169
1170 b)) 5’4 610630kskkkskkskk%25 DU L H 20226110042001170
1171 FEAW 4 BT R —t U = D 20226110042001171
1172 Al e % 612429%skskskkkksksk 8 X PR = D 20226110042001172
1173 sk A 5’4 61052 Tkekekekelololokok 25 DU = I2D'8 20226110042001173
1174 SRS 5’4 P ) DU = D 20226110042001174
1175 R © 130828kkkkaktotonor g4 i L 1720’8 20226110042001175
1176 T A 5°q 61012 2skskksksiokdeokk 2.3 U = B 20226110042001176
1177 THZ & 23080 3kskskskskkokskskk20 DU = D 20226110042001177
1178 G 5’4 6101 1 2kkekekelololololok 28 DU = I2D'8 20226110042001178
1179 B u 610122%kkks0kokkkx4 3 DU = TEC 20226110042001179
1180 MRk E 5’4 34260 Lxsskkotokskkk2() DU L H 20226110042001180
1181 EMEE 4 5201 1 [ kskskstsisioskoksksk | U = B 20226110042001181
1182 KT 5°q 610525%kskskkokokskok 4 X R = TEC 20226110042001182
1183 TR AR 5’4 6101 1 Jkkekekeeokokokok 27 DU = I2D'8 20226110042001183
1184 G 7 6101 24kkskkxkkx%45 U A VB 20226110042001184
1185 F55 5’8 14062 Lok 28 DU L H 20226110042001185
1186 AR 4 O —— U = B 20226110042001186
1187 = MLER & 610102:%5kskskskskskskek 20) B = =D 20226110042001187
1188 JEEETH 5’4 61250 Dekelelelelolololok8X DU = I2D'8 20226110042001188
1189 s 7 612424 xkkk0kk4%2 | P Sl e 20226110042001189
1190 B 5’8 150 104sskksokspsorkd 7 DU L H 20226110042001190
1191 ¥ bk i R —— U = B 20226110042001191
1192 X ] 5 5 610202skskkskskskokokokk 1 6 Wt = =D 20226110041001192
1193 Y 5’4 6127 32%kkkekekokkokok 20 DU = I72D'8 20226110042001193
1194 FE 2 T 7 610502k k%5546 U A VB 20226110042001194
1195 120 5 5°q 612429skkksksickteokk G 2 P L B 20226110042001195
1196 PV 5’4 37091 [ skekekstesiesiskokskskd | U = B 20226110042001196
1197 EA 5’y 6101 22%kskskskokokskskk 7 DU = D 20226110042001197
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1199 h%§§d\§%jtinﬂﬁ % 65012 Lkskstokstotokak 24 | BETGE b ik R B 20226110042001199
1200 MRk ” 34260 skt 7 DU = D 20226110042001200
1201 S5 IR A © 61012 | keksksiokkksk 22 PR = D 20226110042001201
1202 % 7z 610323 kkkkkok 4426 P LA W 20226110042001202
1203 Z= 1 fi u 61052 kkksksokokkk 68 DU = TEC 20226110042001203
1204 ZRIR 5’8 6101 25%kkksk0k4%2.3 DU L H 20226110042001204
1205 He DU 54 61272 Tkkkkskkk4% 25 DU = B 20226110042001205
1206 Eria % i —m—r PR = D 20226110042001206
1207 S R 7 610625%kxkkkkk%%29 PR = B 20226110042001207
1208 AN 7 430923k skskoks0kkk 4.2 P Sl e 20226110042001208
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1756 THE 5’4 610425%skokokokkk 27 DU = B 20226110042001756
1757 e u 610628kkkksksookekk2X DU = B 20226110042001757
1758 R Cil 349929 2%skskskskskoksksksk 52 U =i Bt 20226110041001758
1759 & ha 1 610423 *sikokokekkk 27 DU = e 20226110042001759
1760 IR 5 610626:kskskskskskskskskok ] 2 DU = B 20226110041001760
1761 1K 5 510822%sksksksskkksksk 72 DU = B 20226110041001761
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1762 RS 5’4 610582kl 22 DU = B 20226110042001762
1763 RS S I —s BB i B 20226110042001763
1764 AEK P 140830kt 1 7 DU = Bt 20226110041001764
1765 LRk © 4130265%kkskskskokoksk 62 DU = B 20226110042001765
1766 XL 5’4 6101 25%kkkekekokkokok 26 DU = B 20226110042001766
1767 AL u 610323kl 22 DU = B 20226110042001767
1768 L 5’8 610629tk 27 DU L Bt 20226110042001768
1769 iKE & il 610627 ksksksisksksksksk TX U =i Bt 20226110041001769
1770 ARG © R — DU = B 20226110042001770
1771 ERETT 5 61043 [ksksskkokoksksksk | PR EILA B 20226110041001771
1772 KA U 2101 06%kkkekkekkokok 16 DU = B 20226110041001772
1773 IR b 62270 Lksskotokskkk 77 [ i L Bt 20226110041001773
1774 BUET 5°q 61012 [skkteksictoksklk 06 U =i I 20226110042001774
1775 X i 3 ORI m—t P e = 20226110041001775
1776 BEAE L 5’4 140322k 22 DU = B 20226110042001776
1777 +HEF 7 61048 Dokt 23 P = B 20226110042001777
1778 JE R E: R T — P i B 20226110041001778
1779 IMEYE i R — U =i Bt 20226110042001779
1780 ERE 3 6101 02sksksksksksksksksksk 19 DU = B 20226110041001780
1781 AN ) 6101 1 2skskskskskskskskokok 36 DU = B 20226110041001781
1782 I 7 6105025k k%462 U Sl e 20226110042001782
1783 TR, 5’4 A —— P =i Bt 20226110042001783
1784 £ 54 230204k 27 DU =i Bt 20226110042001784
1785 S H © 412702kkkskskskskokokok Q7 DU = B 20226110042001785
1786 Tk 5 6127 32%kskskskskokoksksk | 4 PR EILA B 20226110041001786
1787 P U 5’4 6101 223kkekekololololok4 X DU = B 20226110042001787
1788 2 e 5°q 37152 [ skskskstesiskoksksksk 2 X U =i Bt 20226110042001788
1789 ] FRE 7 6101 1 3otk 1 7 DU = Bt 20226110041001789
1790 4l 2% 5 330324 %skskskokokokok 58 DU = B 20226110041001790
1791 RIER 5’4 610102kl 28 DU = B 20226110042001791
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1792 B RV 7 6101228k k%2 | DU EH Hey 20226110042001792
1793 EAL 1| 41272 Bsksstskkek20 DU fkis G 20226110042001793
1794 T u 64011 Dkskskskskkkkkk 22 [] je = Ber 20226110042001794
1795 [ A 4 8 61230 1k k08 DU = Her 20226110042001795
1796 X=F G 8 4301 24k k455563 DU = A 20226110042001796
1797 AT % 142625% x5k 5% 14 DU = Ay 20226110041001797
1798 X gy 610125k k%24 U felis Kt 20226110042001798
1799 2515 % gy 6101 1 Stttk 3 DU fEkis Hx 20226110042001799
1800 BN 'S 610525% k%23 DU = A 20226110042001800
1801 5 % 61012 1 kskskkkskx%75 DU = A 20226110041001801
1802 KEF S 610526% k%543 DU = Ay 20226110042001802
1803 T 5 612522 %sksksikskokok 1 () DU e A 20226110041001803
1804 E £ 340123k ks0k k1 7 DU e G 20226110041001804
1805 2> i 7k S 610103%kk555%%40 DU = A 20226110042001805
1806 ESNONi) 8 610629% kK542 7 DU = A 20226110042001806
1807 A T 'y 61010455555k 5k 4546 DU = Ay 20226110042001807
1808 EERL: gy 52240 [skstskstootiork2 3 DU fkis G 20226110042001808
1809 T4 5°8 O —h, DU i P 20226110042001809
1810 B EAA 5 61048 Dkksktiorkk33 DU i Hey 20226110041001810
1811 iU S 342222k ¥ KK XK68 DU = A 20226110042001811
1812 5 5 T 'y 13012 Dk k48 DU = Ay 20226110042001812
1813 EAL L 61011 Ik ] 3 DU fkis Hey 20226110041001813
1814 A 7 6127 29kkkskskskokokokok 22 WtR 5 By 20226110042001814
1815 SR [5] 7 61272 THkskkkiokkxd DU i ey 20226110042001815
1816 R S 6101 1 3%kkskkkk4%63 DU = A 20226110042001816
1817 I Al S 61052 Tkkpkkkkx%43 DU = Ay 20226110042001817
1818 e 'y 6101 03%skskstootskotkotok 23 DU [ H 20226110042001818
1819 HEY i 4508023kt x2 | AN fEkis A 20226110042001819
1820 RHERE g’y 342622k xk KKK %KX DU = A 20226110042001820
1821 i ¥4 S 61232 4%k 5k k5% %%65 DU = Her 20226110042001821
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1822 Tk F H 7 410703skkk30k8% 25 P = B 20226110042001822
1823 24k i 6101 1 3kksksokoksk 16 DU L B 20226110041001823
1824 L)) & 610323 sksksksksksksksksksk X PR =i ey 20226110042001824
1825 L © B — DU = B 20226110042001825
1826 R 7 610624k kkkxkk%%28 U = I 20226110042001826
1827 Ty 7 6101 22kkskkkkxk2X U Sl e 20226110042001827
1828 i 5’4 T ——r P =i ey 20226110042001828
1829 B B 1 61052 5kkkkekkolkokokok 23 DU = B 20226110042001829
1830 S % 41072 | sskskskskskskskokk 2X DU = B 20226110042001830
1831 X 4t 5 61242 2skskskskskskskskskok 1 7 DU = B 20226110041001831
1832 BT u 61032 Lkskksksiokokkk k28 DU = B 20226110042001832
1833 F R b 411303skkkkkkk1 7 DU L Bt 20226110041001833
1834 gk FhER 5°q 610526%kskskskskksksksk4X U =i Bt 20226110042001834
1835 MmER ) 610526kskskskskskskskskok 5 4 DU = B 20226110041001835
1836 i 7 610502k %463 U = e 20226110042001836
1837 (G 5’4 6107 25%kkekekololkolokok 2 X DU = B 20226110042001837
1838 FiE x© 610323 sksksksksksksksksksk X PR =i I 20226110042001838
1839 =i 7 142628 +kkxxk5%%% 1 5 DU = e 20226110041001839
1840 S & 61012 1skskskskskskskskskok 49 DU = B 20226110042001840
1841 KA 5 14270 3skskskskskskokokokek | 2 DU = B 20226110041001841
1842 LTRER u 6523 24kkkkkskokekk 2K DU = B 20226110042001842
1843 TK I 5’4 1427298k 44554k 28 DU L B 20226110042001843
1844 B A 5 41058 Ikskkkkrtkk 95 DU = B 20226110041001844
1845 Mrazas 5°q PR — PR i B 20226110042001845
1846 BT ) 3603 1 2skskskskskssskskok | 4 DU = B 20226110041001846
1847 e i u 612724k kskkk4k%25 DU = B 20226110042001847
1848 HHAERH 5 612323 %kxkkkkkk 35 DU L B 20226110041001848
1849 W NN 55 i 61011 Lskkksksiotookk 25 U =i ey 20226110042001849
1850 oK Y 2 © 6101 04sksksksksksksksksksk 20 DU = B 20226110042001850
1851 FIIRR 5’4 6101 24kkkkekkokkokok 29 DU = B 20226110042001851
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1852 XI5 Pa 41132Tk%kk%5k%%36 U Sl e 20226110041001852
1853 S S T —t P i B 20226110042001853
1854 L3 5°q R ———n U =i Bt 20226110042001854
1855 T 5’y 610424 %kskskskskokokoksk 25 PR EILA B 20226110042001855
1856 K 7, 5 610502:kkskskskskoksksksk | 9 PR EILA B 20226110041001856
1857 EHESE 5’4 6101 1 2skkekekelokolololok23 DU = B 20226110042001857
1858 XI| 7t Fe] 5 410927 skkskskstestsisksksk ] 1 DU L Bt 20226110041001858
1859 2 i S —t U =i Bt 20226110042001859
1860 gkt N 5’y 610326 %kkskskskskokoksk | PR [EILA B 20226110042001860
1861 AR 5 612732 %kkskskskokokokok ] | PR EILA B 20226110041001861
1862 KV u 612727k k22 DU = B 20226110042001862
1863 BT 4 6101 1 5otk 20 DU L Bt 20226110042001863
1864 Y P 61012 1 sektokstokssok k33 PR = I 20226110041001864
1865 Z=—Hf 5’y 6101 1 2kkskskskokokoksksk 2 X PR EILA B 20226110042001865
1866 ERIIT %« 6127 24xkkokkkk20 DU = B 20226110042001866
1867 K 1 U 412823k 1 X DU = B 20226110041001867
1868 Ly S 5’8 610403tk 27 DU L Bt 20226110042001868
1869 X\ i 37088 2skskskskskskskskskok 26 DU = e 20226110042001869
1870 2 WY © 61040 2sksksksksksksksksksk02 DU = B 20226110042001870
1871 L i 5’4 610625%kkskkkokokk 25 DU i B 20226110042001871
1872 W f& 4 5’4 14270244425 DU = B 20226110042001872
1873 B SR O 5’4 610113kt 23 DU L Bt 20226110042001873
1874 &E «© 371525kkskskskskskskskok 27 DU =i e 20226110042001874
1875 £ 5 3492992 ksksskskokokskskk | 6 PR [EILA B 20226110041001875
1876 7 i [ 5’4 142730k 22 DU = B 20226110042001876
1877 gk 5 612724k ikkokekekok 1 0 DU = B 20226110041001877
1878 151 SE AR 5°q 61048 skeksisiskksksksksk 2 7 U =i Bt 20226110042001878
1879 ZAE i 61011 Lskskoteksictokskolk 46 U =i Bt 20226110042001879
1880 EYE % 6101 1 Ssksksksksskskskskok 28 DU = B 20226110042001880
1881 MR = 5’4 530328kkkekkeeokkok 4 7 DU = B 20226110042001881
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1882 e nt 7 42062 Lskkkkrkkx49 U Sl e 20226110042001882
1883 U 5 1l ) 6101 1 3xkxotokkk® 16 DU L Bt 20226110041001883
1884 XI| ek 24 P 62230 Lotk 37 DU = Bt 20226110041001884
1885 L 5’y 61043 [ ksksksskskokokoksk 42 PR EILA B 20226110042001885
1886 SCHE 7z 61022 Isokstpsokkk 22 P LA B 20226110042001886
1887 (At 5 61048 [#ewicieiokololk 33 DU = B 20226110041001887
1888 Pk 5’4 610327k %25 DU L Bt 20226110042001888
1889 2 u 61042 Tkl 4.3 DU = e 20226110042001889
1890 L & 130429kt 20) DU = B 20226110042001890
1891 B BRI 7 612729kkkkxkk %% 28 PR = e 20226110042001891
1892 A2 P 50023 9skskskstootokk 72 +FKik = B 20226110041001892
1893 K 5’4 I —— PR L Bt 20226110042001893
1894 Bt u 610528 kkkkkkkokokok 27 DU =i e 20226110042001894
1895 N 5’y 371422%sksskkokokskskk A6 PR EILA B 20226110042001895
1896 X D11 5’4 411303k X DU = B 20226110042001896
1897 X Wk u 621 226Kk k84 DU = B 20226110042001897
1898 BILE 5°q 610125%ksksksiskksksksk QX U =i Bt 20226110042001898
1899 XI| & 1 130423555554 3 DU = e 20226110042001899
1900 B AIUR % 61012 1skskskskskskskskskok | DU = B 20226110042001900
1901 T A 7z 41 142435k8850kk%85 P LA B 20226110042001901
1902 TEXR 7 6101 1 2xkskpsokotnk 25 P = B 20226110042001902
1903 BT 5°q 61273 [ kkskstsisiokoksksk | P =i Bt 20226110042001903
1904 FhIE N 4 61042 7ksksksiskksksksk QX U =i Bt 20226110042001904
1905 TEW % 142202skskskkkoksisiteok 2X DU = B 20226110042001905
1906 H 2R ) 6101 24skskskskskssksksksk 1 X DU = B 20226110041001906
1907 FEVE u 612526%kkkkkok 06 DU = B 20226110042001907
1908 T 5’4 61012 [kt 07 PR =i Bt 20226110042001908
1909 W u 41148 1 kkkkxkkkk%26 DU = Bt 20226110042001909
1910 ATW ) 61050 2sksksksksksksksksksk 1 4 DU = B 20226110041001910
1911 PN A 7z 210624kk%xkk4%%2.3 R LA B 20226110042001911
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1912 B R 5’4 372928kl 22 DU = B 20226110042001912
1913 X1 7N il 5°q 141 182skskssetoksickok 6 X U =i ey 20226110042001913
1914 753 4 410522skkksksksksiokskok6 | DU = B 20226110042001914
1915 TR © 410103s%kksksksiekokok69 DU = B 20226110042001915
1916 el 7 610124k k%4529 U = I 20226110042001916
1917 pAlliie S 7 142602k %kk%55%20 U Sl e 20226110042001917
1918 AN 4 452629%Fkxkkkk%23 DU L B 20226110042001918
1919 T HAE 7 14272 Tk 555516 DU = B 20226110041001919
1920 T4 5’y 142303 skskskstokkkkkk 23 PR [EILA B 20226110042001920
1921 AR EE 610426sksksksksksksksksksk | 4 DU = B 20226110041001921
1922 sk AT 5 53042 Lskeieterokolokek 1 X DU = B 20226110041001922
1923 RaYiidl 5’4 410928k k%5426 DU L B 20226110042001923
1924 E1654 5 410504%kkk%kkkk% 19 DU = B 20226110041001924
1925 KT % 61032 Lskskskskskskskskskok 2.2 DU = B 20226110042001925
1926 e 7 610126k %% 29 U = e 20226110042001926
1927 TRE 7 142726% k555555520 U Sl e 20226110042001927
1928 A RE 5’4 37292 8sksksksksksksksksksk 44 PR =i ey 20226110042001928
1929 JiH K u 13018 kskskstkkkxx 29 DU = B 20226110042001929
1930 PRk T 5 610526kskskskskskskskskok 5 7 DU = B 20226110041001930
1931 Bt 5 34100 2sksksksksksksksksksk | 4 DU = B 20226110041001931
1932 X th Pa 6101 24kkskkkkxk 14 U Sl e 20226110041001932
1933 R 5’8 14220 kskskkkxrk 28 DU L Bt 20226110042001933
1934 K5 7 610426%kkkkkokokokok5 3 DU = e 20226110041001934
1935 25 Hiii Hi 5’y 610626%kskskskskoksksk k26 PR [EILA B 20226110042001935
1936 iKY 5’4 612329 kkekekelolololkokok 22 DU = B 20226110042001936
1937 R LD 5’4 41042235 5k5k0k0kk2 | DU = B 20226110042001937
1938 ARANs) 5°q 610122%kskskskskokoksksk Q5 U =i Bt 20226110042001938
1939 (EREXES i 61058 | skeksksikksksksksk 46 U =i Bt 20226110042001939
1940 K 5 61032 2skskskskskskskskskok 30 DU = B 20226110041001940
1941 KN 5’4 140624 *kkkkkkk%%27 DU = B 20226110042001941
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1942 TR IR u 61012 Dkskskersokokkkx03 DU = B 20226110042001942
1943 YUK U Cil 610524 %ksksksksiskksksk ] 1 U =i ey 20226110041001943
1944 TEE 5’4 62222 4sksksksksksksksksksk 2.2 PR =i ey 20226110042001944
1945 EATT P 41032 5%skskskskskskskskek | X DU = B 20226110041001945
1946 AN 5 610524 %kskskskskokoksksk | X PR EILA B 20226110041001946
1947 PR % A 5’4 411324k 64 DU = B 20226110042001947
1948 ¥— N 5’4 I —, P =i ey 20226110042001948
1949 P& ES u 14042 Lsssnk 27 DU = B 20226110042001949
1950 R ) 61032 2skskskskskskskskskskQ 7 DU = B 20226110041001950
1951 EREE 7 620524k kKK %428 PR = e 20226110042001951
1952 +H u 61032 Leksteksctolokkk8 7 DU = B 20226110042001952
1953 TK Ul 5’4 1301 25%kskk5%x5%%28 DU L Bt 20226110042001953
1954 AR 5 61058 | ket [ 9 PR =i B 20226110041001954
1955 RE 5’y 61032 [ ksksksskskokokoksk ] 3 PR EILA B 20226110042001955
1956 5 4 7 6101 25%kskkpkoknk23 U = e 20226110042001956
1957 ZLFH 5’4 410782k 40 DU = B 20226110042001957
1958 £t i 6101 26%ksks0kkkx 1 7 DU L Bt 20226110041001958
1959 U AR u 14012 Lk 20 DU = e 20226110042001959
1960 T8 5’y 610326%ksskkokoksksk k66 PR [EILA B 20226110042001960
1961 PR 5 6101 1 3skskkskskskskskskok 1 5 DU = B 20226110041001961
1962 | =1 u 41138 Ikoksktoksookok 4 7 DU = B 20226110042001962
1963 K B R L R — Bt i B 20226110041001963
1964 BTrE & 61060 2sksksksksksksksksksk 45 PR =i e 20226110042001964
1965 T R ) 51370 Lskskskskskskskskskok 38 DU = B 20226110041001965
1966 + A 7 6101 25%kskskkknk2 | PR = e 20226110042001966
1967 K = T 5’4 6101 1 2skekekelololololok23 DU = B 20226110042001967
1968 X\ i 61273 Lkskskssolokskk k25 DU L Bt 20226110042001968
1969 PR 5°q 371324 kskskssksksksksksk 29 U =i Bt 20226110042001969
1970 AR, % 610526kskskskskskskskskok 26 DU = B 20226110042001970
1971 R e 5’4 61020 3kkekekekelolokokok 22 DU = B 20226110042001971
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1972 R u 14058 Iskolektokikok63 DU = B 20226110042001972
1973 X1 i% 55 5 R —Ts PR =i Bt 20226110041001973
1974 K5 4 612526k kkkkkkkokk 29 DU =i e 20226110042001974
1975 fif 5 3 P 6101 1 4skskskskskskskskskok ] 2 DU = B 20226110041001975
1976 TEZE 5’4 62052 Jkkkkkekekkkok 09 DU = B 20226110042001976
1977 B E L u 620502skkxkskokekokk6 1 =]k = B 20226110042001977
1978 X = 5’4 61272 3sksksksksksksksksksk | PR =i I 20226110042001978
1979 FH P B 5°q T ——r U =i Bt 20226110042001979
1980 FABITD)A 5 - P i B 20226110041001980
1981 M= 7 65290 Lkskskspkokxk25 ALk = e 20226110042001981
1982 R u 610625%kkkskkekk06 DU = B 20226110042001982
1983 REW 5’4 130723 skskskstekekstesksieok X U =i Bt 20226110042001983
1984 LIk 1 410328ksksksksktkokkk QX DU =i i 20226110042001984
1985 gk BT © 14092 2skskskskskekokokekok 28 DU = B 20226110042001985
1986 s ) 610429skksksikokeokk 72 U LA B 20226110041001986
1987 T 5’4 61240 ekekekelololololok85 DU = B 20226110042001987
1988 R 1 i 51082 [skkeksksiotekk 23 U =i Bt 20226110042001988
1989 EH K 5°q T —t U =i Bt 20226110042001989
1990 T% 5’y 61052 | kkskskskskokokoksk 22 PR [EILA B 20226110042001990
1991 2T e 5’4 610502skkkekekelolokokok 2 X DU = B 20226110042001991
1992 A 5’4 612425%kkekekelolokokok 22 DU = B 20226110042001992
1993 EAE 5’4 6104230k 29 DU L Bt 20226110042001993
1994 FEBE i 6101 25%ksksksiskokskskok 44 PR =i e 20226110042001994
1995 ZEei 5 14272 3sskskskokekokokokok | 8 DU = B 20226110041001995
1996 ZEEK 5 61022 [ kksksskskokoksksk | X PR EILA B 20226110041001996
1997 FE IR IR 5 61043 ricieiolololk 78 DU = B 20226110041001997
1998 B 4 513423kt x4 3 A L Bt 20226110042001998
1999 o] £544 4 61042 5skkksksiokodeokk 22 U =i Bt 20226110042001999
2000 B HT EE 61032 Lskskskskskskskskskok 1 4 DU = B 20226110041002000
2001 230 5’4 412826 ik 24 DU = B 20226110042002001
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2002 MR Z bt 5’4 6101 02kkkkekkokkokok 26 DU = B 20226110042002002
2003 P 5’8 41152 Iakkstkskork 29 DU L Bt 20226110042002003
2004 BLIERR P 411422%kkk85550kk59 DU = Bt 20226110041002004
2005 Ji % H 5°q I —— PR i B 20226110042002005
2006 O 5’4 61272 Tekelelolololololok 24 DU = B 20226110042002006
2007 Ik 7 210902kk3kskxkk4%2 | U Sl e 20226110042002007
2008 SCEE 5’4 610528 kxkkkokskk%26 DU L Bt 20226110042002008
2009 % L 61052 4skkksksiokltokok ] 2 PUE laa Bt 20226110041002009
2010 & 5’y 61250 L kskskskskokoksksksk 09 PR [EILA B 20226110042002010
2011 F W AE 5 I — DU = B 20226110041002011
2012 K4 R 5 610402:iekkokekekk 1 0 DU = B 20226110041002012
2013 dFiE 5°q 142402skssksksfetoksiekok4X U =i ey 20226110042002013
2014 PRl u 411330%kkkskkokkk 25 DU = B 20226110042002014
2015 XIVEE 5 61272 5skskskskskskskskskok 1 7 DU = B 20226110041002015
2016 X e 5’4 371425%kkkekekokokokok 62 DU = B 20226110042002016
2017 FRE 5’4 61012 kekkekekekkkok()7 DU = B 20226110042002017
2018 TR EH i 5107 26%kk%kkkk5%2X Telk =i ey 20226110042002018
2019 TK u 610526%kskkkkk%4 7 DU = B 20226110042002019
2020 £ [ 45 % 61272 5sksksksksksksksksksk 4 X DU = B 20226110042002020
2021 HBE 5’4 612524 kkkekelololololok84 DU = B 20226110042002021
2022 2 h U 1407 2455 DU = B 20226110041002022
2023 & °© 1427243kttt 2 | P =i ey 20226110042002023
2024 ez} il 6101 22skskskskskskskskskok 16 PR =i ey 20226110041002024
2025 K 5’4 410426%skskskskskskokokk 45 DU = B 20226110042002025
2026 b 5 41142 | seskskskskskokokokk 38 DU = B 20226110041002026
2027 BAR¥L 5’4 142726 k5% 28 DU = B 20226110042002027
2028 5K 5 5% 5 62042 2sksksksksksksksksksk 1 X PR =i ey 20226110041002028
2029 7= Kt 5°q 510824 %sksksksiskksksksk 44 U =i ey 20226110042002029
2030 ERE 5’4 411329%kkkkskskkkk 26 PR EILA B 20226110042002030
2031 2N 7 410502%kkkkk%%44 U = e 20226110042002031
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2032 i 5’4 610104kkekelololololok 24 DU = B 20226110042002032
2033 B 5’8 612329kxkkkkkk%26 DU L Bt 20226110042002033
2034 A P 41062 Iskkkkkkkk5() DU = Bt 20226110041002034
2035 15 % 411329sskskskskskskokokek 25 DU = B 20226110042002035
2036 REaYiL) 7 342426k kx5 %% 20 U = I 20226110042002036
2037 TR 7 410326%kkkkxkk%2 1 U Sl e 20226110042002037
2038 BEE 3 140522sksksksksteksieiok | 1 P =i Bt 20226110041002038
2039 Tk u 1422265555520 DU = e 20226110042002039
2040 ZEE % 610524skskskskskskskskskok 26 DU = B 20226110042002040
2041 D] 5’4 6101 25%kkekekelkolkokolok83 DU = B 20226110042002041
2042 B 7 610326k kkkxkk4k23 P Sl e 20226110042002042
2043 T2t 5’4 1301 30skkskkokok 29 DU L B 20226110042002043
2044 M 54 14031 Ixskokskkrrk2() U i B 20226110042002044
2045 B 5’y 612527 kkskskskskokoksksk A X PR EILA B 20226110042002045
2046 B 7 B 5’4 610422kkokkkk29 DU = B 20226110042002046
2047 MRS 5 6101 24%kiciekkolelk 7TX DU = B 20226110041002047
2048 RN 52 i 61012 2skkksksiokedeokk 25 U =i ey 20226110042002048
2049 . 3 U 5°q 6101 1 3sksksksisiskoksksksk 2 X U =i ey 20226110042002049
2050 R 5’y 6101 1 dsksksskokokoksksksk 20 PR [EILA B 20226110042002050
2051 pa AN £ 7z 51132 Iskskokstokk+46 P LA B 20226110042002051
2052 K Bk 5’4 610202skkkekekekokokokok2 | DU = B 20226110042002052
2053 XI5 x© 62232 3sksksksksksiskokskok | PR =i I 20226110042002053
2054 [ R 5 gy 610 104skskskksiokokskk k28 [ jit e Bt 20226110042002054
2055 B A 5 61052 [kskskskskokoksksksk | 7 PR [EILA B 20226110041002055
2056 Tl 7z 511024kkk0kk4%43 P LA B 20226110042002056
2057 R 2o 7 610124k k%27 U Sl e 20226110042002057
2058 BAEE 5’8 410184 kkxkkkk%k23 DU L Bt 20226110042002058
2059 R 7 610526%kkkkkkkokok 1 7 DU = e 20226110041002059
2060 KA 5 61270 Lskskskskskskskskskok 35 DU = B 20226110041002060
2061 I 7 6101 1 Hkskskskrnk6d U = e 20226110042002061




|hies 44 P ) RS R H 1 AR A2k R EL HUH AL 555
2062 TR 5 412727 #5kkkkkk 10 DU = B 20226110041002062
2063 EX 79 5’4 610523k 09 DU L Bt 20226110042002063
2064 ER 54 142228%kkk4% %455 26 DU = Bt 20226110042002064
2065 T4 5’y 6101 22%kskskskokoksksk k26 PR EILA B 20226110042002065
2066 it EE 61058 Lsksksksksksksksksksk | 1 DU = B 20226110041002066
2067 Fit 5 612725%kkiciokokokk ] | DU = B 20226110041002067
2068 FIMH 5’4 2323023k k08834500 DU L Bt 20226110042002068
2069 FHRAR i 37028 3kkkkkkkkk k27 DUt =i Bt 20226110042002069
2070 T © 6127 25skkskoksiokskkok 2() P i B 20226110042002070
2071 o 5’4 610623kxsskokokkkk27 DU = B 20226110042002071
2072 BN 7 61272 Tk %29 P Sl e 20226110042002072
2073 BT 5°q 14273 Isksekofetoksiekok 2 X U =i Bt 20226110042002073
2074 o fi i 61012 2skskksksikesekok 2 | U =i Bt 20226110042002074
2075 T H © 61050 2skskskskskskskskskok 49 DU = B 20226110042002075
2076 Kl 3 62272 3skskskskskoksk | | DU = B 20226110041002076
2077 2R u 6127 28kkkkksckolkekk6X DU = B 20226110042002077
2078 X B E 5’8 152629kkkk5%x5%%25 DU L Bt 20226110042002078
2079 EB u 220722k kkkkkkokokok 27 DU = e 20226110042002079
2080 MR ) 61042 skskskskskskskskskok | 8 DU = B 20226110041002080
2081 XBIE5E 5’4 61058 kkekkekekekokkok 29 DU = B 20226110042002081
2082 A 1 U 42052 Ik 1 X DU = B 20226110041002082
2083 GAE 5’4 61052 [skkteksictokskolok Q6 PR =i Bt 20226110042002083
2084 AEH 5 61012 [ sksksisiskksksksksk 99 PR =i B 20226110041002084
2085 FE 5’y 61058 | kkskskskskokokoksk 28 PR [EILA B 20226110042002085
2086 FhET 7 610525k kskkkk4k28 PR = e 20226110042002086
2087 ZH U 610103 kkkekekkekkokok 36 DU = B 20226110041002087
2088 7K Hity 5’4 610103 sksksksksksksksksksk X PR =i I 20226110042002088
2089 A 5°q R ——r U =i Bt 20226110042002089
2090 2 1T % 61052 3skskskskskskskskskok G 4 DU = B 20226110042002090
2091 EEER 7 610322k %k %% 24 U = e 20226110042002091




|hies 44 P ) RS R H 1 AR A2k R EL HUH AL 555
2092 Xl 9 7 610126k kskkpkkkk22 U Sl e 20226110042002092
2093 Et- 5’4 65900 | ksksksisiskksksksk 2 X U =i Bt 20226110042002093
2094 FEAE G 54 610426%kskk0kk4%29 DU = Bt 20226110042002094
2095 XL R P 610103sksksksksksksksksksk 1 0 DU = B 20226110041002095
2096 XA ls 5’4 142623 *kkkkkk%%%20 DU = B 20226110042002096
2097 P 7 41152 kkkkrk®x26 U Sl e 20226110042002097
2098 T8 i 6101 1 4kt 36 PR L Bt 20226110041002098
2099 P tE E: 61062 3%ksksksiskkskskok | 4 U =i Bt 20226110041002099
2100 T 5’y 6101 1 5skskskskkokoksksk 2 X PR [EILA B 20226110042002100
2101 R4 5 62272 2skskskkkskskkok | 6 P i B 20226110041002101
2102 7K Mg 5’4 6101 22s%kkekekololololok44 DU = B 20226110042002102
2103 F itk 5 411122%kkskk50kk 37 DU L Bt 20226110041002103
2104 PNB S 5 6103 24sksksksksksksksksksk 32 PR =i B 20226110041002104
2105 S0 © R — DU = B 20226110042002105
2106 7 [E 5’4 230202skkkekekokokokokok 2 | DU = B 20226110042002106
2107 4% U 411528k 14 DU = B 20226110041002107
2108 FlA 5’4 61058 | keksksksisiksksksk 82 U =i Bt 20226110042002108
2109 kSt u 610423kl ok k66 DU = e 20226110042002109
2110 BTN E % 62052 | sksksksksksksksksksk 82, DU = B 20226110042002110
2111 D IESE | 61012 1pkkkkiokiior05 B = s 20226110042002111
2112 B3 | 610122k kpkiotiior2X DU i s 20226110042002112
2113 K47 1H 5’4 612322k skxkksksksk k%20 [ L Bt 20226110042002113
2114 FEHa 1 37292 2%k sk k6 0) DU = B 20226110042002114
2115 255 © 610122s%sksktkokksksksk 2 7 DU = B 20226110042002115
2116 XK 5’4 130124k 28 DU = B 20226110042002116
2117 iR AR 5 61020 3sciekokokekolk 1 6 DU = B 20226110041002117
2118 ik i R — U =i Bt 20226110041002118
2119 2 P 320323k k18 DU = Bt 20226110041002119
2120 XU 1) ) 610429sksksksksksksksksksk 7 () DU = B 20226110041002120
2121 TR 5 4201 1 Tssksksksskokokoksk 78 PR EILA B 20226110041002121




|hies 44 P ) RS R H 1 AR A2k R EL HUH AL 555
2122 MZEE 7 61250 Lksksokskkoknk24 U Sl e 20226110042002122
2123 2 5’4 610103k 20 DU L Bt 20226110042002123
2124 A i 610630%ksksksksiskoksksk | U =i I 20226110042002124
2125 T4 5 64032 | kksksskskokokoksk | 3 PR EILA B 20226110041002125
2126 B g EE 372929sksksksksksksksksksk 1 ) DU = B 20226110041002126
2127 EE= U 210726%kkkekekololkolok 1 5 DU = B 20226110041002127
2128 E25% 5’8 61270 Lkl k23 DU L Bt 20226110042002128
2129 A BH 5’4 I — U =i Bt 20226110042002129
2130 B 5’y 610430%kskskskokokskskk2 () PR [EILA B 20226110042002130
2131 LY 5’4 61252 5%kkkekkkkokok 26 DU = B 20226110042002131
2132 H 751 u 14060 2:kkkkskkkok 20 DU = B 20226110042002132
2133 B ” 41148 Ikokstonsork 27 DU L Bt 20226110042002133
2134 TK¥k u 612726k kkkokkkk 27 DU = e 20226110042002134
2135 ik EiE © 610526%skskkkkskskokk 24 DU = B 20226110042002135
2136 =F} 7z 622823kt k 23 P LA B 20226110042002136
2137 LB 5’4 61042 3kkkekeolokokokok2 | DU = B 20226110042002137
2138 X 5 299403 ksksksksisksksksksk ] 2 DU L Bt 20226110041002138
2139 JUF 75 5°q 410782skkkkskskskskeskeok 2.4 U =i Bt 20226110042002139
2140 T 3 61252 5kskskskskskskskokok | 3 PR [EILA B 20226110041002140
2141 X8 7 612425%kkkxkk%%0 | U = I 20226110042002141
2142 XTI 7 41042 Lskkkkrkx40 U Sl e 20226110042002142
2143 X 4 41018 Lkskstokspsokokk 28 DU L Bt 20226110042002143
2144 A EE 54 37292 3kkxkkkkk% 28 PR =i I 20226110042002144
2145 T % 6101 02skskskskskskskskskok 48 DU = B 20226110042002145
2146 PLAEST 5’4 1301 24kskskkkkkkkk 24 DU = B 20226110042002146
2147 X1 Pa 622825k kK kkk %% 36 U Sl e 20226110041002147
2148 B i PR i 610423kt %25 DU L Bt 20226110042002148
2149 X 52 Vi 4 65432 | skktoksicokokok | U =i Bt 20226110042002149
2150 B 4EFT © 610125%skskkkkkskokk 26 DU = B 20226110042002150
2151 PRl 3 5292124 %skskskkokokokok 38 DU = B 20226110041002151




|hies 44 P ) RS R H 1 AR A2k R EL HUH AL 555
2152 S i Pa 430482k kx4 59X U Sl e 20226110041002152
2153 HF 5’8 140226kkskx5kk 26 DU L Bt 20226110042002153
2154 WK u 610323 kkkokokkk k26 DU = e 20226110042002154
2155 b= 5’y 6101 04%kkskskskokokoksk 23 [ EILA B 20226110042002155
2156 eEd 5’4 610123sskokokokskkq 7 DU i B 20226110042002156
2157 Earh 5’4 610402k 00 DU = B 20226110042002157
2158 Tk 5’4 61012 [kl 0 6 PR L Bt 20226110042002158
2159 BEfEH i 37150 2skskskskskskskskokok 28 DU = e 20226110042002159
2160 LT H 5 61040 4sksksksksksksksksksk 50 DU = B 20226110041002160
2161 XISChE 5’4 61063 2kkkekekelolololok64 DU = B 20226110042002161
2162 L 5’4 41108 Ik 68 DU = B 20226110042002162
2163 TR 5°q 610322%ksksksksiskoksksk | U =i Bt 20226110042002163
2164 VR4 «© 610423 %kkiiokolokk 28 DU = e 20226110042002164
2165 XX 5’y 612732 %kkskskskokokokok | PR EILA B 20226110042002165
2166 Tk A I 5’4 6101 22%kkkekokokokokok 27 DU = B 20226110042002166
2167 EUNIZ 7 41 1425%%5kk830k8% 25 P = B 20226110042002167
2168 BN i R —— U =i Bt 20226110042002168
2169 R 5°q 6101 04%ksksksksioskoksksk | U =i Bt 20226110042002169
2170 g % 61050 2skskskskskskskskskok 48 DU = B 20226110042002170
2171 JH %4 EE 61270 [skskskskskskskskskok 1 3 R = B 20226110041002171
2172 BRI 7 522226kkskkerkork(3 +Fik Sl e 20226110042002172
2173 [ kERan 5’8 152825 kkskkokkkk23 DU L Bt 20226110042002173
2174 VE R 5 6125265 kskskskskkskskok T 4 PR =i e 20226110041002174
2175 TXRRK 5’y 612728 kskskskkokokskskkd 7 PR [EILA B 20226110042002175
2176 v B 7 612724k kkkpkk%%23 PR = e 20226110042002176
2177 J& H 5’4 61012 kool 2 1 DU = B 20226110042002177
2178 i i R —t U =i Bt 20226110042002178
2179 o MY JIK u 610528 *kkokokkk k26 DU = e 20226110042002179
2180 EIg6E 3 61252 2sksksksksksksksksksk 1 ) DU = B 20226110041002180
2181 FEWY 7 622722k %k %% 29 U = e 20226110042002181




|hies 44 P ) UEAE 5 A R H 1 AR A2k R EL HUH AL 555
2182 JEAF 3 5’4 61052 ekekekelekolkololok6.3 DU = B 20226110042002182
2183 X 5% i 61012 2skkksksiketekok 32 U =i Bt 20226110041002183
2184 R 7 61250 [¥kieioiokololk 33 DU = B 20226110041002184
2185 XA i 231025%sksktkkkskkk 26 DU = B 20226110042002185
2186 ] 5 140423sksksktkoksisiieok 34 DU = B 20226110041002186
2187 Fanp 5 622429 %kickokkokk 35 DU = B 20226110041002187
2188 PEJRES °© 6101 1 3skskeksisisikksksk Q2 P =i Bt 20226110042002188
2189 k3 7 5°q 6101 24%ksksksksiokoksksk | U =i Bt 20226110042002189
2190 MLt 5’y 612324 %kskskskskokokok kD5 PR [EILA B 20226110042002190
2191 K A5 5] 5’4 341204kkkkekokokokokok 2 | DU = B 20226110042002191
2192 5% 5’4 610404 kkkkekkokkokok 27 DU = B 20226110042002192
2193 JFE Hi 5’4 S — U =i Bt 20226110042002193
2194 MR «© 610324kl k26 PR =i B 20226110042002194
2195 Eif 5 610326kt 30 DU = B 20226110041002195
2196 fE R 5 14058 1 sksksksoskskoksk 1 3 PR EILA B 20226110041002196
2197 TR U 34080 3kkekeketotototolok 1 X DU = B 20226110041002197
2198 ZET 5°q O — U =i Bt 20226110042002198
2199 s 5’4 I ——Y U =i Bt 20226110042002199
2200 SR 5 379230 Lkskskskkokoksksksk [ 4 PR [EILA B 20226110041002200
2201 K 5’4 14072444 3 DU = B 20226110042002201
2202 KR4 5’4 6101 24kkkekekololkokokok 3 DU = B 20226110042002202
2203 IR 5 5°q 230422:ksksksksksksksksk k26 il =i Bt 20226110042002203
2204 kSR 5°q 411322kkkskskskskeskeok 2.4 U =i I 20226110042002204
2205 Ky 5’y 500222 %kskskskskokokoksk 28 PR [EILA B 20226110042002205
2206 =I5 5’4 42062 Dk | DU = B 20226110042002206
2207 S U 610103 kkekekekololololok ] 3 DU = B 20226110041002207
2208 ZH 1% © 610203 %ksksksisiskoksksk | U =i Bt 20226110042002208
2209 )i Gl 61272 Tkkkkkkk4%18 DU = Bt 20226110041002209
2210 R 5 612324 kskstkokkskokok | 6 DU = B 20226110041002210
2211 TR ) 37152 2skskskskskskskskskok 79 DU = B 20226110041002211




|hies 44 P ) RS R H 1 AR A2k R EL HUH AL 555
2212 fic 7 610122k xk4X U Sl e 20226110042002212
2213 7K B 5 130522kttt 1 X DU L Bt 20226110041002213
2214 ¥ 50 4 15030 4skskstestokokekeskek 22 DU = I 20226110042002214
2215 BEn i 42062 | xxkkkkkkkk2X PR EILA B 20226110042002215
2216 E G 5’4 6101 1 4kekekolololololok23 DU = B 20226110042002216
2217 e 5’4 410322 kkkikekllolok 26 DU = B 20226110042002217
2218 R 5’4 61273 Lkskssolokskk k23 DU L Bt 20226110042002218
2219 ¥ B ik i I —t U =i Bt 20226110042002219
2220 AR © 4104265skskskskskskskokok Q6 DU = B 20226110042002220
2221 YRAE G 5’4 61022 2kkekekekolkokokok 22 DU = B 20226110042002221
2222 Rk u 610404kl 27 DU = B 20226110042002222
2223 ZEK © 6101255kt 44 U =i Bt 20226110042002223
2224 LN 5 371523 skskskskkkkkkok | 2 DU = B 20226110041002224
2225 XMESE % 61050 2sksksksksksksksksksk 2.2 DU = B 20226110042002225
2226 Ji ) 3 32092 5skskskkkkskkk 3 ) DU = B 20226110041002226
2227 +—4d u 6101 04kkkstolkok ok 26 DU = B 20226110042002227
2228 7K /NG 5°q 141123 skttt | PR =i I 20226110042002228
2229 I 3 6127 30%ksksksksiskoksksk ] 1 U =i Bt 20226110041002229
2230 T A] L & 6101 04%kskskskskokoksksk6X PR [EILA B 20226110042002230
2231 ZiHE 7 411324%k%kk k8% 25 U = I 20226110042002231
2232 BEER ) 411224kkkkk0k0kk ] 1 DU = B 20226110041002232
2233 T34 5’4 513722s%sksksksksksksksk k86 PR L Bt 20226110042002233
2234 Z «© 500228kskskskskkkokokok 88 DU =i e 20226110042002234
2235 FH 3, 5’y 612729k kskskskskokoksksk O X PR [EILA B 20226110042002235
2236 +X u 4113243 kk8500k4% 26 e LA B 20226110042002236
2237 /N 7 6124 25%kkks0kk4%45 P = i 20226110042002237
2238 ERERiE] i O —r U =i Bt 20226110041002238
2239 £ 7 1427 26%kkkkk5k5% 1 7 DU = e 20226110041002239
2240 EES2 % 6101 26kskskskskskskskskok 26 DU = B 20226110042002240
2241 K 2 5 612429skskskskskskskskskok 32 DU = B 20226110041002241




|hies 44 P ) UEAE 5 A R H 1 AR A2k R EL HUH AL 555
2242 AEEWL 5’4 6101 1 hkkkekekkekkkok06 DU = B 20226110042002242
2243 Z=Hj 5’8 210106%kxkkkkkk23 DU L Bt 20226110042002243
2244 IDEiEi 5°q O —— P laa Bt 20226110042002244
2245 PR © 51342 3s%sksksksitokookskd | DU = B 20226110042002245
2246 LV 7 612724k k84484463 U = I 20226110042002246
2247 K= 5’4 321324kkekelololololok64 DU = B 20226110042002247
2248 R 5’8 6101 1 5%kkkkokkk23 DU L Bt 20226110042002248
2249 48T u 1402275545426 DU = e 20226110042002249
2250 MRl £ 5 44060 2sskskskskskskokokek 32 DU = B 20226110041002250
2251 PR 5’4 610582kkkkkekekkkok 26 DU = B 20226110042002251
2252 ZHi K 5’4 370902skkkekekokolokokok 28 DU = B 20226110042002252
2253 BUH: W 5’4 O —t PR =i Bt 20226110042002253
2254 JEFI ] S 37112 2skskksksioketekokd 3 P laa Bt 20226110042002254
2255 K H 5’y 410527 #kkskskskokokoksk 25 PR EILA B 20226110042002255
2256 20 g ) 61032 2skskskskskskskskskok 1 5 DU = B 20226110041002256
2257 VELEPN 5 610402%kciekkokokk94 DU = B 20226110041002257
2258 THEEE 5°q 610582 kskskskskskoksksksk Q2 U =i Bt 20226110042002258
2259 EAL 5°q I U =i Bt 20226110042002259
2260 m—IE % 61050 2sksksksksksksksksksk X DU = B 20226110042002260
2261 Giall B ) 610524sksksksksksksksksksk 19 DU = B 20226110041002261
2262 ZRE 5’4 6104 223%kkekekololololok 44 DU = B 20226110042002262
2263 IR 5’4 B — P =i Bt 20226110042002263
2264 7K SCF 5°q R —— B =i Bt 20226110042002264
2265 EAEES % 612429skskskskskskskskskok 2 | DU = B 20226110042002265
2266 K FH 7z 612522 kkkk0k 4420 P LA B 20226110042002266
2267 i JE Bt 5 61048 Lsieiekokolekokk 39 DU = B 20226110041002267
2268 )4 E: 62052 4skskdeksiksktek 1 ) P i e 20226110041002268
2269 HENE 5 37082 Tk | 3 DU =i e 20226110041002269
2270 WZLELE! 3 64222 6kskskskskskskskskok 78 DU = B 20226110041002270
2271 X et 5 ) 21062 3skskskskskskskskskok 38 DU = B 20226110041002271
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2272 JE T 5 U 610104kkekekololololok 1 4 DU = B 20226110041002272
2273 EAEIE 5’8 14058 Lxskokskssokok 20 DU L Bt 20226110042002273
2274 2 At 5 35220 2skskskskskskskskskk | 4 DU = e 20226110041002274
2275 TH 5 360123%kskskokokkok 33 DU = B 20226110041002275
2276 A5 5’4 61250 Dekkekelololkolokok 22 DU = B 20226110042002276
2277 (X1 ¥A P 5 61011 [kerieieolololok 1 5 DU = B 20226110041002277
2278 X R b 6101 25%kkkskkk4%15 DU L Bt 20226110041002278
2279 KEE 5°q 61032 2sksksksiskkskskskkd 7 U =i Bt 20226110042002279
2280 25 5’y 610428 %kskskskokokskskk2 () PR [EILA B 20226110042002280
2281 (E3U 7N EE 13108 2skskskskesteskkokekk 39 PR i B 20226110041002281
2282 7K R u 410329 kkkteksekokk09 DU = B 20226110042002282
2283 NF © 320902:kksksksksiskoksksk | U =i Bt 20226110042002283
2284 M5 5°q 14032 1 skskseteoketesksieok 24 PR =i e 20226110042002284
2285 B BAE © 610526kskskskskskskskskok 2.2 DU = B 20226110042002285
2286 T Ik 7 3T1524kk3kkxkk 4% 22 U = e 20226110042002286
2287 TR Pa 44138 Lkkskkkx 15 U Sl e 20226110041002287
2288 FiH 5’8 12022 Lsokoksossrorok 20 DU L Bt 20226110042002288
2289 X EA By 410329%+kkkokokk93 DU = e 20226110041002289
2290 A 5’y 1404305k 25 PR [EILA B 20226110042002290
2291 TREE 7 6101225k k%4526 U = I 20226110042002291
2292 21t 5’4 6101 1 hekelelelololololok8X DU = B 20226110042002292
2293 2 5’4 411327 k%044 48 DU L Bt 20226110042002293
2294 Tk 5 5 61012 2skskteksicokskolok 36 B =i Bt 20226110041002294
2295 L ST & 61050 2skskskskskskskskskok 49 DU = B 20226110042002295
2296 MmEE 5’4 62282 I ekekekololololokok 22 DU = B 20226110042002296
2297 73 058 5 371326%kkickokokkk 58 DU = B 20226110041002297
2298 FE &P i 612526%kskskskkokokokok | DU L Bt 20226110042002298
2299 e ” 142325 kkk8x554k45 DU = Bt 20226110042002299
2300 FNEENL © I — DU = B 20226110042002300
2301 A 5’4 6401 22%kkkekekekokokok 27 DU = B 20226110042002301
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2302 AT u 612724k kskkk4k%25 DU = B 20226110042002302
2303 7K TR 5°q 6101 1 3skkeksksiotekk 22 U =i Bt 20226110042002303
2304 K A 5°q I — U =i Bt 20226110042002304
2305 RAEEIX © 610702:kskskkkokksksksk 20 DU = B 20226110042002305
2306 FNEK 5’4 610324kkekekelolokokok 2 X DU = B 20226110042002306
2307 HAS 7 6101 22kkkk0k 4426 P = i 20226110042002307
2308 % °© 610324 ksksksiskokskskskk 46 P =i Bt 20226110042002308
2309 Pk 7 142702kks855350kk 30 DU = Bt 20226110041002309
2310 T B % 6101 1 3skskskskskskskskskok 28 DU = B 20226110042002310
2311 275 5’4 612326%kkkkekekkkok 20 DU = B 20226110042002311
2312 5 5E 5’4 450203 kkkikll